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QUESTION 1

Which of the following access modes can be used by leaf nodes in a data center?
A. Single-node system deployment

B. ToR Deploying an SVF System

C. Deploying the M-Lag on the ToR

D. ToR Stack Deployment

Correct Answer: C

QUESTION 2

VXLAN uses MAC in UDP encapsulation to extend Layer 2 networks and encapsulates Ethernet packets on IP packets.
When packets are transmitted on a touted network, the intermediate touting device does not need to learn inner MAC
addresses.

A. True

B. False

Correct Answer: B

QUESTION 3

The following commands ate configured on the router running BGP:

bgp 100 peer 12.12.12.2 as-number 200 ipv4familyunicast network 1,1.1.1 255.255.255.255 undo synchronization peer
12.12.12.2 enable peer 12.12.12.2 next-hop-local The IP address of the router\\'s interface connected with peer
12.12.12.2is 12.12.12.1.

What\\'s the function of the command "peer 12.12.12.2 next-hop-local"?

A. Change the next hop of the routes generated locally as 12.12.12.1

B. This command does not work at all

C. Change the next hop of the routes advertised to peer 12.12.12.2 as 12.12.12.1

D. Change the next hop of the routes received from peer 12.12.12.2 as 12.12.12.2

Correct Answer: D

QUESTION 4

Which of the following statements regarding DIS election is correct?
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A. When the priority is the same, the router with higher IP address will be elected as the DIS.

B. When a DIS fails, the backup DIS will take over.

C. The IS-IS router with the highest priority in the whole broadcast network will be elected as the DIS.
D. DIS election is configured manually.

Correct Answer: ABC

QUESTION 5
Which of the following statements is correct regarding virtual router?
A. If multiple routers are configured with the same virtual router ID.they all associate to the same virtual router.

B. If multiple routers associate to the same virtual router, they must be configured with the same virtual router ID and at
feast one virtual IP address.

C. If multiple routers associate to the same virtual router, they must be configured with the same virtual router ID and
virtual IP address.

D. If multiple routers are configured with the same virtual IP address, they all associate to the same virtual
router.

Correct Answer: A
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